Cingue in un baccello (1)
Hans Christian Andersen

conformazione

pienamente
della casa

un baccello
€ una fiaba
dello
Danese Hans
Christian
fosse verde
ragione
crescevano
assestarono
secondo la
splendeva e
riscaldava

il baccello

era verde
Cosi Si

cosli loro

e avevano

mettendosi
tutti in fila

Fuori il

credevano
sole

scrittore
che tutto
il mondo
Il baccello
cresceva
e ancheii
la pioggia

Andersen
piselli

R cerano
cinque
piselli
inun
baccello
erano
verdi e
anche il
baccello
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lo schiariva
c era bel

caldo e si

stava bene

era chiaro
di giorno e

buio di notte
proprio

come doveva
essere € i

piselli

diventavano
sempre pil
grossi e

pensavano

sempre di piu

se ne stavano
sempre li
seduti

qualcosa

dovevano
pur farla



